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1.
(1) w=azt,w = a(z +iy)* = a(z* + 4izdy — 622y — dizy® + )
¢ = a(z? — 62%y> + y1), ¢ = a(4zPy — 4ay®)
(2) w = az’,w = a(x +iy)? = a(2® — y* + 2ixy)
¢ = a(a® —y*), ¥ = 2azy
2.
(1) Parallel flow(U=2)+Circulation flow(I" = 6)
w = —3iln(re’) + 2re’ = —3ilnr + 30 4 2r(cos 0 + isin )
p=30+2rcosf, 1=2rsinf—3lnr
(2) Parallel flow(U=5)+source flow(Q = 27)
w = 5re’ +1In(re’?) = 5r(cos + isind) + Inr + 0
@w=>5rcosf +Inr, ¢ =>5rsind+40
3.

w = 5(x + iy)exp(ia) = 5(x + iy)(cosa + isina)

¢ = b(xcosa — ysina), ¥ = 5(ycosa — xsina), «=7/3
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Parallel flow+Source+Sink flow, dw = iUz 4+ min(z + az) — min(z — ay)
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w = 4iz + %[ln(z + 3 +4i) — Inz]
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w=4iz + 5—41n[1 - M]
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